THEORIST KEY

1. According to Skinner, learning is a change in BEHAVIOR WHICH PERSISTS OR IS MAINTAINED OVER TIME.

Example:  Learning begins with a stimulus from the outside environment, to which the person responds with an action/behavior (response).  A consequence is what follows the response – it can be a reinforcement (which can be positive or negative) or a punishment or ignoring of the behavior.  The consequence is the effect that follows the action.  Reinforcement can be divided into two kinds.  Positive reinforcement increases a desired behavior by providing a desirable response [desirable to the individual – faculty addition].  Negative reinforcement also increases a desirable behavior by removing an unpleasant or aversive stimulus.  Behavior is any action a person takes – it is observable and thus is the only basis for measuring if learning has occurred.  The environment dictates how the individual will act – learning comes from outside, from the environment.  Skinner argued that as humans, we ultimately shape our culture and our environment by designing the contingencies through our responses to stimuli (not through free will or any feelings).

Example: Learning occurs through stimulus from the environment which the person responds to with a behavior.  That behavior is reinforced either positively or negatively and the behavior increases (if the person finds the response reinforcing) or the behavior is punished or ignored and the behavior decreases or is extinguished.  The person learns things from part to whole and all learning is uni-directional – coming from the outside environment.  The environment is constant for behaviorists.

Example:  The environment shapes the individual’s behavior.  Environment provides stimulus, learner responds to stimulus, environment gives a consequence based on learner’s response.  If environment favors response, it will reinforce response behavior to increase that behavior, or if the behavior is not favored, will cause extinction of behavior.  Positive reinforcement is something the environment provides the learner immediately after the desired response to increase that behavior.  Negative reinforcement is something the environment removes immediately after the desired response behavior to increase that behavior.  Extinction is when the environment ignores [or punishes – faculty addition] a response behavior because it is not favorable.

Example:  Learning comes from the environment to the individual. The environment, which includes teachers and other people, but is not limited to humans, initiates a stimulus that the learner responds to.  After response a consequence comes.  This consequence comes in the form of positive reinforcement, negative reinforcement, ignoring, or punishing and its intent is to reinforce desirable behavior.  Depending on the consequences that the learner experiences after a particular response, he or she will choose to either behave the same or differently next time.

FACULTY COMMENT:  Notice that each of these answers addresses the theory as it relates to all people, which is what Skinner intended.  Behaviorist theory is not restricted to the classroom.  Please also keep in mind that, according to Skinner, consequences for behavior happen all the time.  A consequence is reinforcing to a particular person only if the consequence increases a behavior.  In the classroom, teachers attempt to use consequences to increase behaviors that they determine are desirable.  In the world at large, ANY behavior that increases (whether we value the behavior or not) is considered to have been reinforced by the consequences.

2. According to Piaget, learning is a CHANGE IN SCHEMA AND INCREASING COMPLEXITY OF THINKING PROCESSES. 

Example:  Learning begins with a state of disequilibrium in response to a situation or piece of information that does not fit into the learner’s current schema.  The learner can then either assimilate the information in order to fit it into her/his current schema or accommodate (change their schema) to adapt to the new information.  Both assimilation and accommodation are forms of adaptation but learning occurs through accommodation, or schematic change.

Learning occurs as a progression through cognitive stages (sensori-motor – pre-operational – concrete operational – formal operations) in which cognition moves from concrete (sensori-motor/learning is action) to abstract (formal operations . . . “operations on operations”).  Learning also requires a movement from figurative knowing (understanding the form, structure, symbols of something) to operative knowing (understanding the nature/concept of something and how to apply it).  And . . . the individual acts on the environment.

Example:  Learning occurs through a process of adaptation that balances between assimilation and accommodation. The catalyst for the learning process is a “bumping” of new info with current schema – a point of disequilibrium.  As one changes schema to accommodate new info, cognition advances and structural, schematic change occurs = learning occurs.  Schematic change moves one through stages of thinking (sensori-motor, pre-operational, concrete operation, and formal operations).  Interaction with the environment inspires change in thinking and movement to more abstract thinking.  Within the stages of development, an individual can move from figurative to operative knowing. 

Example:  Learning begins when an individual is forced into a state of disequilibrium.  Whether through receiving new information or having a new experience, the learner will strive to return to a state of equilibration.  This is accomplished through the process of adaptation, and can occur through either assimilation, which is the process of integrating information into existing schema, or accommodation, which is the process of changing or adding to existing schema to integrate new information.  Piaget believed that children learn through 4 qualitative stages: 1. Sensori-motor; 2. Pre-operational; 3. Concrete operational; 4. Formal operations.  In the first stage, the child is developing schema, blueprints for action, through concrete experiences in her environment.  As she moves into the more advanced stages of things, these schema become complex operations which can be used to produce abstract hypotheses.  Conservation, reversibility, and class inclusion, for example, develop in the 3rd stage and represent an ability to abstractly conceptualize from concrete experience. The individual constructs her knowledge from interacting with her environment – action is from the individual out to the environment.

Example:  In the learning process according to Piaget, each person has various schemata which act as frameworks for interacting with the world – they organize information and provide us with blueprints for action.  We naturally try to assimilate new information into our existing schema (bend the new experience to fit the schema).  When this doesn’t work, when our schema are not serving us well, then we are in a state of disequilibrium, or confusion, and we have a need to know, a desire to work out the problem.  Then we can accommodate our schema, or change the existing schema, and make a new one to incorporate the new info.  Adaptation is the process of assimilation and accommodation that humans undergo to survive in the world.  Piaget divided his theory into 4 stages of thinking (cognitive structures) that all people pass through:  sensori-motor, pre-operational, concrete operations, and formal operation.  As one moves through the stages, one moves from thinking in concrete terms to being able to hypothesize and think abstractly.  Figurative knowing is knowing at a static appearance level, knowing one aspect, such as being able to define a term.  Operative knowing is being able to transform information to actually operate on the information to use it.  It is knowing the function of a term, how it relates to other things, why it is important.  The individual constructs her own knowledge through interactions with the environment.  The environment plays a role by influencing a person’s schema or prior experience.

FACULTY NOTE:  We see that almost everyone is having difficulty with the ideas of figurative and operative knowing.  For now, we’ll ask that you think about the fact that figurative and operative knowing happen in every stage of development.  Why?  How are operative knowing and abstract thinking different?

3. According to Vygotsky, learning is A CHANGE IN THINKING (OR SCHEMA OR COGNITION).

Example:  Vygotsky argued the learner and the environment interact with one another and that learning occurs through a dialectical process.  This process is going from a personal thesis about something, being presented with new information (antithesis), generally by a more capable peer, then arriving at a state of synthesis where the new information has been internalized.  The learner is always interacting with the tools of her/his culture, such as language.  The more capable peer helps the learner move through her/his ZPD with the use of scaffolding.  When synthesis has been reached by the learner about a new piece of information, that means he/she no longer needs help to know it.  The ZPD has now moved.  The info is understood in an intra-mental way (personal) instead of an inter-mental way with the MCP.

Example:  The learning occurs between the person’s actual and potential, which is called the Zone of Proximal Development.  This is a dialectical process where information is at first an external exchange with the use of language as the primary cultural tool and is at this point intermental.  New information creates an antithesis which can only be brought to a synthesis in the learner through a more capable peer (teacher, adult primarily).  When synthesis has occurred, the information becomes internalized, or intramental.  There are multiple factors from the environment that effect cognitive development – society, culture, language, and peers.  Scaffolding occurs when the MCP creates the antithesis and develops the process to synthesis.

Example:  Learning occurs through the zone of proximal development.  At one end of the zone sits the student who carries a thesis about the given situation or information.  At the other end of the zone sits a more capable peer with an antithesis to this same situation [at one end is the learner’s actual ability with regard to the situation or information; at the other end is the learner’s potential which can be reached through the help of a MCP- faculty addition].  The antithesis may be an expanded perspective, an alternative perspective, etc.  The two engage in a dialectical process wherein their intermental dialogue incorporates the learner’s thesis and the MCP’s antithesis.  The MCP scaffolds the learner, offering ways that the learner can get to that next level of thinking using her own prior knowledge.  If the learner synthesizes the two perspectives, she may internalize a new thesis and move along the zone toward expanded knowing.  The intermental dialogue between learner and MCP becomes the learner’s intramental dialogue (self-speech) because the new understanding can be used in future learning endeavors.  Common language allows for this dialogue and process to occur.  


When a learner begins this process, it is imperative that the MCP take into account the culture, gender, language, etc., of the learner because the individual is a product of and an influence on her environment.  Put another way, as the learner influences the environment (including the MCP), so is she influenced by the environment.  Individual and environment are intertwined so that it is not clear where one ends and the other begins – they are not mutually exclusive.

FACULTY NOTE:  Please notice in these responses that learning is a change in cognition, or a change from inter-mental to intra-mental dialogue.  The movement in the ZPD is the mechanism or process through which the learning occurs.  It is also important to realize that many ZPD’s exist simultaneously and that this is true in and outside of school.  Further, a ZPD does not have to be about loft thinking or abstract ideas.  ZPDs encompass learning physical skills and tool use.

4. If you look at the syntax of the models to determine the direction of the teaching/learning process and who does the work of the thinking or problem solving, direct instruction and presentation are most closely associated with behaviorist theories, while concept attainment, cooperative learning, and problem-based instruction are most closely associated with social constructivist theories.

In both direct instruction and presentation, the information or skill is communicated from the environment (the teacher) to the learner.  The teacher has done the work of figuring out the information or skill in both models.  In both models, consequences are often applied to shape teacher-desired behaviors.
With concept attainment, cooperative learning, and problem-based instruction, the teacher DOES identify goals and problems to be pursued.  She/he DOES identify and create example and non-examples of concepts.  However, the work of thinking and problem-solving occurs among learners with teacher support.  The teaching/learning process is multi-directional.  Intrinsic motivation is valued over external motivators.

HOWEVER, there are variations on concept teaching and cooperative learning that employ behaviorist theories.  Concepts may be taught directly when the teacher gives concept name, definition, and critical attributes up-front.  Examples and non-examples are used to drive home the point.  The instruction is from teacher to students; the students are not attempting to deduce anything.  They are expected to learn the terms and definitions through the vehicle of examples and non-examples.

Slavin has proposed a form of cooperative learning that uses teams of students to help each other do things like memorize math facts and spelling words, prepare for tests, etc.  These teams do rely on inter-dependence but they are not about solving problems or encouraging higher level thinking.  Most often the work of these teams is rewarded – a use of reinforcement to shape desired behaviors.

